Ordre d’Opérations (A)

Effectuez les opérations dans le bon ordre.

L (5-5)%x(5+9)+9+2

2. 1x(1=7)+3+1+4

3.3+1—-(7—9)x6) x 1

4. 4x1+(149-6)x1

9

L 6—(1+2x(3-5+2))

6. 2% (6—6)x2x(1—-1)

7.7T%xX2x14+1—-642

8. 5% (2x1—(5—9+4))

9. 7T+4—-7+2%x8—6

10. 3x (9—(146)) x (6—6)
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Ordre d’Opérations (A) Answers

Effectuez les opérations dans le bon ordre.

L. (5=5)%x(54+9)+9+2 6. 2%x(6—6)x2x(1—1)

2.1x(1-7)+3+1+4 7.TX2x14+1—-6+2
=2 =11

3. 3+1—(7—-9)x6)x1 8. 5X(2x1—(5—9+4))
=16 =10

4. 4x1+(149-6)x1 90.7+4—T74+2x8—6
—3 = 14
56—(14+2x(3-5+2)) 10. 3% (9—(146)) x (6—06)
=35 =0
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Ordre d’Opérations (B)

Effectuez les opérations dans le bon ordre.

LO+(8—8—2)x3+1 6. 24 (7—(645)) x (9—8)
2. 1—-(2=5)x1x1-17) 7. (4—=3) x4 x1x(1-3)
3. 7x (64+4—4—4-2) 8. 7+9+8—-5+2-2
4.4x(7—6)+8—7x2 9.1-(3-6+2x7+6)
55— (5-6+5—-5x%x3) 10. (9—9)x2x4x(7+3)
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Ordre d’Opérations (B) Answers

Effectuez les opérations dans le bon ordre.

94+ (8—8-2)x3+1 6.2+ (7—(645)) x (9—8)
—4 -2
1—=(2=5)x1x1-=17) 7. (4—=3)x4x1x(1-3)
=11 =38
Ix(64+4—4—-4-2) 8. 7+94+8—-5+2-2

=0 =19
4x(T—6)+8—7x2 9.1—(3—6+2x746)
5—(5-6+5-5x%x3) 10. (9—9)x2x4x(7+3)
=16 =0
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Ordre d’Opérations (C)

Effectuez les opérations dans le bon ordre.

L14+1494+1—1x7 6. 1+6+(1—-2)x3+4
2. (Ix5—-4)x6x%x(5-2) 7. (4—(44+9+4-7)) x 1
3.(9-9)x3x4x(4+1) 8 5—(34+9—-4-2x7)
4 1+T7—(9+8— (2+4)) 9.3-1x9—(6x3-09)
5.54(34+4-7)x1x4 10. 7+1x8—6—(7+2)
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Ordre d’Opérations (C) Answers

Effectuez les opérations dans le bon ordre.

I+1+9+1—-1x%7

=35

(9—9)x3x4x(44+1)
=0

1+7-(0+8=(2+4)

+(3+4-7)x1x4
=5

6. 146+ (1—2)x3+4
=3

7. (4—(4+9+4-7)) x

I
|
o)

8. 5—(3+9—-4-2x7)

p—
k.

9.3—1x9—(6x3-9)
=15

10. 7+ 1x8—6—(7+2)
=0

1
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Ordre d’Opérations (D)

Effectuez les opérations dans le bon ordre.

L. 1—441x3—(74+6) 6. (9—(2—4)x1+8-5
2.5x(2-141x6-5) 7. (6+9+6—-8—8) x2
3.6x2x1Ix1x1x1 8.2—(1x7—(84+9+1))
4.7—9—(6-3)x(5-4) 9.5x(1—=(1-1))+2+7
51x(446—(7%x2+6)) 10. 5—(2—-74+3+1+4)

MathsLibres.com




N

het

bt

Ordre d’Opérations (D) Answers

Effectuez les opérations dans le bon ordre.

1—44+1x3—(74+6) 6. (9—(2—4)x14+8-5
=—13 =14
5x2—-14+1x6-5) 7. (6+ 9+6 8—8)x2
6x2x1x1x1x1 82— (1x7—(849+1))
=12 =13
7T—9—(6-3)x(5—4) 9.5x(1—=(1=1))+2+7
=-5 =14
Ix(446—(7x2+6)) 10.5—(2—=7+3+1+4)
=—10 =2
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Ordre d’Opérations (E)

Effectuez les opérations dans le bon ordre.

L3-T—4+(2+4)x1 6.3—6X2+9+6-2

2 (142)x3x(2—2) x9 7.7% (249) x (2— (6 —4))
37— (1x1—(4—(5-3))) 8. 6% (4—T)+1+8x2
49— (7+842)—1x4 9.4—(6+8+4—1x8)
56— (3—(2x4—8)+7) 10. (2—2)x (8—(3+8)—1)
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Ordre d’Opérations (E) Answers

Effectuez les opérations dans le bon ordre.

:—_72—4+(2+4) x 1 6.36x24+9+6-2
(:1(—;2)><3><(2—2)><9 7. 7:>6(2+9)><(2—(6—4))
.7:—8(1><1—(4—(5—3))) 8. 6:><_(4—7)+1+8><2
99— (7T+8+2)—1x4 9.4—(6+8+4—1x8)
=12 =-6
:—_(j—(2><4—8)+7) 10. (:262)><(8—(3+8)—1)
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Ordre d’Opérations (F)

Effectuez les opérations dans le bon ordre.

18— (8—3)—(4+1x5) 6.2—(3—(5+5—(2+3)))
2.9—(2x4—8)—5x4 7.4—1x(6=T7+2x7)
327+ (4-2)x 1x3 8.2%9— (8+4—1—4)

4. (2+48—6)x (4—4) x4 9. (1= (4+5)) x(2—4) x1
52—242x243—1 10. ((7—6)x4+8—8)x2
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Ordre d’Opérations (F) Answers

Effectuez les opérations dans le bon ordre.

. 8—(8—-3)—(4+1x5) 6.2—(3—(5+5-(2+3)))
— 6 —4

. 9—(2x4-8)—-5x4 7.4—1x(6—-74+2x17)

— 11 -9
2XxT+(4-2)x1x3 8. 2X9—(8+4—1—4)
=20 =11
(24+8—6)x(4—4)x4 9. (1—(445))x(2—4)x1
=0 =16
2—242x%x2+3—-1 10. ((7—6) x4+8—8)x2

oo

:6 =
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Ordre d’Opérations (G)

Effectuez les opérations dans le bon ordre.

3—64+5%x2+3+38 6. 4—2+9—(7+2+5)
5—(249-1—-1x5) 7.3x1x(5-2)x2x1
(2x8+4)x(3—-3)x2 8. 3+6—(7—3)+9—1
A4+5+54+1+2-5 9. 1 x (244 x3)x(7—18)
. 8—7—(9+5)—(1-5) 10. 8—14+3)x(5x1-7)
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Ordre d’Opérations (G) Answers

Effectuez les opérations dans le bon ordre.

3-64+5x2+3+38 6. 4—2+9—(7+2+5)
=18 = -3
5—(249-1—-1x5) 7.3x1x(5-2)x2x1
=0 =18
. (2x8+4)x(3-3)x2 8. 3+6—(7—3)+9—1
A4+5+54+1+2-5 9. 1 X (2+4x3)x(7-38)
=9 =14
—7—(945)—(1-5) 0. (8—1+3)x (5x1-7)
=9 =20
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Ordre d’Opérations (H)

Effectuez les opérations dans le bon ordre.

L(5x(1—1)+7)x1-9 6.7+6+5—9—(2+8)
22— (64+3—-3+7-8) 7. (1= (7=T))x2-3) x4
3.4x(6+8—(4—1)x4) 8. 2x2x2+2+4+9-3
4.4—(34+7)+14+9+38 9.6—-94+9—-(9+7x1)
52x1x3—(1—-8+3) 10. (9—(7—4)—6) x (7+6)
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Ordre d’Opérations (H) Answers

Effectuez les opérations dans le bon ordre.

L(5x(1=1)+7)x1-9 6.7+64+5—9—(2+8)
2.2—(6+3—-3+7-8) 7. (1—=(7-7)) x2-3) x4
— 3 = 4
3.4x (6+8—(4—1)x4) 8. 2Xx2x242+9-3
=8 =16
4.4—(34+7)+14+9+38 9.6—-9+9—-(9+7x1)
5.2x1x3—(1—8+3) 10. (9—(7—4)—6) x (7+6)
=10 =0
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Ordre d’Opérations (I)

Effectuez les opérations dans le bon ordre.

L6X(2—(8+1)+9)+5 6.5x2% (3—(5+8)+8)
2 1% (64+9-5+8-7) 7. (7T=9%x1)x (1—(5-2))
3. 1x2x9—(4—(4—9)) 8. 4% (6—6)x (3+4x3)
4 (1x4-944)x(3-7) 9.9x1—2—(142+8)

5. (4—4)x (3—9)— (3+4) 10. (5+2—-6—3)x (146)
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Ordre d’Opérations (I) Answers

Effectuez les opérations dans le bon ordre.

gz—@+4y+%+5

1% (6+9—5+8—7)
=11

Ix2x9—(4—(4-9))
—9

(1x4-9+4)x(3-7)
— 4

(4-4)x(3-9)-(3+4)

6. 5x2x(3—(54+8)+38)

= —20

7. (7T-9x1)x (1=(5-2))

8. 4x(6—6)x(3+4x3)

=0

9.9%1—2—(14+2+8)

=4

10. (54+2—-6—-3)x (1+6)

=14
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Ordre d’Opérations (J)

Effectuez les opérations dans le bon ordre.

L1Ix(2—-64+7+8x1) 6. 6x(7—8)+8x%x(9—-7)
2. 1+464+2x1x(3+3) 7.1434+4—(8-5)+3
3.1 x5%x(5—5)x2x4 8. 3x2x3—(54+1x3)
4. (9=5)x (1 x5—(4+4)) 9. 44+6x7x2x(8—28)
5 2=3)x(1—(4+5))x1 10.3—-9—(6—-(9+7))+9
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Ordre d’Opérations (J) Answers

Effectuez les opérations dans le bon ordre.

Ix(2-6+7+8x1) 6. 6x(7—8)+8x%x(9—-7)
=11 =10

2. 1+64+2x1x(3+3) 7.1434+4—(8—5)+3
=19 =38

3.1 x5%x(5—-5)x2x4 8. 3x2x3—(5+1x3)
=0 =10

4. (9=5)x (1 x5—(4+4)) 9. 4+6x7x2x(8—28)
=12 !
(2-3)x(1—(445)) x1 10.3—9—(6—-(9+7))+9
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